
 

 

Answer on Question #67185, Chemistry / General Chemistry 
 
Show the calculation of the expected grams of alum (KAI(SO4)2 • 12H2O) 

formed from the reaction of 1.3 grams of aluminum metal and then show the 
calculation of the % yield if the actual yield of alum is 19.32 grams. 

 
Solution: 
1. Calculation of expected grams of alum: 

𝑀(𝐴𝑙) = 27.0
𝑔

𝑚𝑜𝑙
 

𝑀(𝐾𝐴𝑙(𝑆𝑂4)2 ∗ 12𝐻2𝑂) = 474.39 𝑔/𝑚𝑜𝑙 
from 27 g/mol Al is formed 474,39 g/mol alum 
from 1.3 g Al is formed x g alum 

𝑥 =  
1.3 ∗ 474.39

27,0
= 22.84 (𝑔) 

2. Calculation of the % yield: 

% 𝑦𝑖𝑒𝑙𝑑 =
𝑎𝑐𝑡𝑢𝑎𝑙 𝑚𝑎𝑠𝑠

𝑒𝑥𝑝𝑒𝑐𝑡𝑒𝑑 𝑚𝑎𝑠𝑠
×100 %  

% 𝑦𝑖𝑒𝑙𝑑 =
19.32

22.84
×100 % = 84.59 % = 84.6 % 

 
Answer: 22.84 g; 84.6 %. 
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